TEACHERS’ NOTES                                                                                        Human senses 6.02


Experiment 6a. Binocular vision: eye dominance - discussion 

Although both eyes are kept open to line up the pencil and the distant object, only one eye, the 

dominant eye, is used to determine the alignment. When this eye is closed, the pencil will appear to 'jump' sideways. It is closure of the dominant eye which produces the jump because, according to the eye now remaining open, the pencil and distant object are not in line. If the student is slow to line up the .two objects he may be aware of a double image of the near object. Nevertheless, the student is still likely to select the image from the dominant eye. 

Experiment 6b. Binocular vision: double vision - discussion

This experiment illustrates the fact that each eye sends a distinct stream of impulses to the brain. The ability of the brain to blend the two images into one impression must depend to some extent on information from the stretch receptors of the external eye muscles, since disturbing the normal alignment of the eyes seems to prevent the 'fusion' of the two images. 

